EAGRAROBREERT — 2 N— ABISH —F

202051082980 (k) 15EIFI5I3H

WVER=FAEXK X/ I /LR B2 5% —#% ‘ (X4&] # ‘ [Emml  — | & () 18000 F&
[x&<£] 1 %:600,000 1  23#&:120,000 @ 3 #&:90,000 43#%:60,000 ™ .~ 5 7 :30,000
&\ BB BEBR M P BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
s .= AlllE : ~3-2— - KN timE
N PIES=NE it 3 an 1.(5_3).4 5-3-2-1 | 39.4 1 ig;; Eﬁiié Bil)
LNV vH—Ib B:T7F25U7 FH)TF—L
. R e FBSEAT .53, e 4 ] _ NE#E (oEE)
2lglig| R7L—ESL 10 27 | Esh (1755374) 6-5-4-1 | 39.3 6 ;1_72()) el C
L:A—-LTFLMA B R¥xvy=>99adq e EE 45035
=g EBEZ . 76— — #EIEF (deiEE)
N RERZE T = 4 4 o 1(75?:;5 7-7-6-4 | 38.8 4 (ifg) ZEE)E)X( BiE
NI v —Ib BiA T Nn—h puie ]
< EARK : -10-10- - #hAGL (AL7E)
algliy| X2 pEE2 4 6 2% 1.(513).7 9-10-10-9 | 37.9 5 (i?g) s el
R:T7—9T7+—X BHLRIN—RF— HET7— L
I S W 2§ :53. -11-9- 5| — AE= (i)
5 7 J—F 4 AL XY 4 6 54_0% 1(;3t>7 11-11-9-6 | 38.5 7 ig)s = BE
LNMVTTY BXA—bRF2T2 =i wiE
. RFRE :54. —-8-7- . — ZTHREL (AtEE)
6!5/5|71TLT> I 1{524)1 8-8-7-6 | 39.0 9 ;112) s
R:ANTr—G BRI &AL [ Eae]
R . E Y SEL . _9_{— - AllFEE (esE)
7 o E—E—Y b > 4 =n 1.(555>.1 2-2-1-3 | 411 2 (5_046) e (A
R4 B:XA—bh=7 FUIr MRS
R 3 | BRERRSE :55.2 1-1-2- . - 5L (AtiEiE)
gl7/g|Fv b " 55.0 (7€) SRS ° <4+120) hate
L8140 B:7—-~rbhO-—b 17 I35
N — HEE :55. ~4-5- . — IHAFIA (dbiaE)
gl1l1|/7U b= 4 6 wer 1 (525)6 3-4-5-8 | 40.8 8 :1:320) g BiE
R:FHYYTRE B:77—Xb¥A b BAHIS
10 3| Ny E=NFIH> B4 Eﬁ"*%’“ 1(:;5/%7 3-5-7-10 [ 40.3| — | 10 | 446 g‘g%g (AtimE)
L:vENTA— BNYILE-H 4 ESi=r e ]
— > 2ERY : -9-10- — HIEGPE (dbimE)
1zl o | Fa7nxvv— > 8 SR 1.(515>.9 10-9-10-11 | 39.7 11 (5&0) tﬁaﬁ&é (AbimiE
LA TAT v — BTFaTINIA =1 — I BN
@ 1 —F—EBIE
| 2=3F= 8,2,(1,3),4,10,6,5,11,9,7
Ral=7r= 8,2,4,1,(3,10),6,5,9,11,7
BEE 2,(4,8),10,1,6,(3,5),7,(9,11)
AT =zF= (4,10),2,6,8,(5,7),1,11,3,9
@ ILRE
B OB 4 1504 74K 4-10 370M & 4-8 340M &R 4-6-10 2,740
# B 4 1209 4-6 410M B = 4-10 1,010 K31 4-10-6 6,920
10 230 6-10 2,390 B H 4-10 1,280
6 260

ARICOVWTRDTEEERROODE. TR LI,




